Multiplying Two Trinomials (F)

Simplify each expression.

CBF =6 BT+ [ - Af)

(2¢° — 6¢* —5¢°)(=7¢" + 7¢* — 5¢°)

O

C(=TkY — 213 — 9K) (6K 4 9k + 3KP)

W

1 (=3w? — 2w — 3)(—w® + 8w + 2)

(=82 — 223 — 52 (=321 + 728 — 2P

Ot

6. (=2d* — 5d — 3)(—7d* + d* — 8d%)

7 (=78* + 75 +9)(5s° + 3s* — 5s%)

8. (=7a* + 5a + 3)(7a* — Ta® — 3a?)

0. (=7g* — 69+ 7)(—g° — 2¢° + 3g)

10. (—=6d* + 8d + 2)(—4d® — 2d* — 2d°)
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Multiplying Two Trinomials (F) Answers

Simplify each expression.

L8 =67+ 3f2)(=Tf+ f1 = 4f)
= 5617 +50f% — 597 4+ 27 (0 — 12f°

2. (2¢° — 6¢" — 5¢*)(—=7¢° + 7¢" — 5¢°)
= —14¢" + 56¢° — 17¢® — 5¢" + 25¢°

W

(=7k* — 2k3 — 9K)(6K° + 9K* + 3K°)
= —42k° — 75k% — 93k" — 87k5 — 27k°

1 (=3w? — 2w — 3)(—w? + 8w + 2)
— 3w* — 2203 — 19w? — 28w — 6

(@)

(=821 —22% — 522) (=32 4+ 72 — 2P
= 242 — 5027 + 925 — 332° + 527

6. (=2d* — 5d — 3)(=7d* + d* — 8d?)
= 14d° + 33d° + 32d* + 37d® + 24d?

7 (=7s* + 75+ 9)(5s” + 3s* — 5s%)
— —355" + 14s% + 101s° — 8s* — 455*

8. (=7a* + 5a + 3)(7a* — Ta® — 3a?)
= —49a° + 84a° + Ta' — 36a° — 9a

9. (—7gr2 — 69+ 7)(—¢* — 2¢* + 39)
= 7¢° +20g* — 16¢° — 32¢° + 21g

10. (=6d* + 8d + 2)(—4d® — 2d* — 2d°)
— 24d" — 20d° — 12d° — 20d* — 4d®

Math-Drills.com




